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&
®) 3°>2°>1°>CH,
(©) EH3}1°>2°>3°
&
(d) 1°>2°>3°>CH,
Order of stability of carbocation ion is :
®
(@ 3°>2°>CH, >1°
e
®) 3°>2°>1°>CH,

: @
© CH,>1°>2°>3°

= = =
e R
: . Z Z (b) No,
B, (d 1°>2°>3°>CH, B o
-H%. , % % (c) Be(l,
2 (i) 1 ¥ Q frg firafafy ¥ ace Fed g 3— -8 2
5 | ‘5 o (d C,H.OH
g @ SN’ 5 3 o
o SN Which of the following in an clectrophilic
' I:ZI.} NH;
(c) SE' '
r
@ SE (b) No,
Wolden inversion ltakes places through which of , (c) BeCl,
the following : | '
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(a) SN?
(b) SN
(c) SE' |
(d) SE’

() ¥ 3 35w i o o 8-

(@) NH. htp:/iwww.a2zsubjects.com

(dy C,H;OH

PTO
| ' http://www.a2zsubjects.com

CR-5306

woosjafgnszze mmm/dny



v) TRHE C—C-H o9 F7 F1 OF 2 2—

(a)
®
©
@

=
5
{ (a)
Z
N (b)
5 (c)
&
5 (d)
3

http://www.a2zsubjects.com

[5]

90°
190°.28’
120°
180°

Bond angle in C—C —H 'in ethane is :

900
190°.28'
120°

180°
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qve-'y’
Section-‘B’

( Y IHT Uy ) 5x1%£75§
(Short Answer Type Questions)

L Wﬂhm'%mﬂﬁqrmm#w
97 ® AfErd &1 y&E 3vT 14 a?}'arr?:

que : Attempt all the five questions. One question from
each unit is compulsory. Each question carries

1% marks.

FRTe-1
Unit-I
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2. dwo @ afowifya wife) wEte el § dwm &
Wil W dfie feolt fafag)
Define Hybridization and write a short note on types of
hybridization in organic compounds.
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HqAEEY |
Monochloroacetic acid is more acidic than Acetic acid,

explain.

-1l

Unit-II

. mﬁmﬁaﬁﬁ@ﬁﬁﬁrmmﬁmm
Describe method of preparation of Cycloalkane (any one). .

3Fgar
Or

mﬁnﬁﬁﬁ@?mwtm:

Cyclobutane is more stable than Cyclopropane, explain.

FhTR-II1

Unit-I11

. Trow weel afufirar i feovit fafaw )

Write a note on Diel’s Alder Reaction.
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T @ &2 g At ffeg)

What are Dicnes? Give their classification.

FERE-1V
Unit-1V

Explain SN reaction with example,
AU
Or
wRfee ity i ¥ 2 wfeeh & st o 9 el
3 aeht FE 2 srfframd dfm)

Why acctylene is acidic? Give two reactions to show its_

acidic character.
FHIE-V
Unit-V

6. RfE 3 4 UHIYF JuEdad & queE |
Discuss Optical Isomerism of Tartaric Acid.
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[ 10]
- - & R-S sfufame fafag) : .
2-s 2-sgeAE & fag | I
Give R-S configuration for 2-Bromo-2 butanol. Unit-I1
8. Fraffas |
TuE-q' | aﬁmﬂmﬁ%mm:(ﬁa) 3
Section-*C’ () =0 =g sifufyn
(ii) 94 e rfufiea
(3 v weR ) 16
: (i) fead =1 s
(Long Answer Type Questions)
= | oz () 313 =t e fafly
5 " . =1 ] :
- : / m # o : \
z e ;W W e o AR £ £ Give following reaction with mechanism : (any twe)
2 ¥¥7 FAT a;ﬁiarzf_af : z () Corey-House Reaction .
P . X £ £ N
[f Note : Attempt all the five questions. One question from ‘};_J S‘_’J (ii) Thorepe Ziegeler Reaction
= each unit is compulsory. 5 = e .
& 8 e (i1i) Dichmann’s Cyclisation
% -1 g % (iv) Kolbe’s Electrolysis Method
Unit-1
_ ' : : ¥eaTs-I11
7. iz ot oY AT §FE & WEa | 4 ' Unit-ITI
Explain change transfer complexes and clathrates. 9. Frefafem § 4§ w ﬁwﬂﬂﬁﬁyq —

woar (i) SR ¥ e
Or - (i) FP,' -
e Heteh ! fawrR 4 wwgse)

Discuss free radical in detail. _ _
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(111) TIERYR
(iv) ASRreTsfag
Write notes on the following : (any two)
() Polymerization in Butane

(ii) Hydroboration

(iti) Epoxidation _
(iv) Ozonolysis *
= =
g Unit-1V g
S 10, T w9 ¥ 9 o A W wwR 29 5
S s s e 3§
g What are Alkynes? Why they are called unsaturated g

compounds. Write their industrial uses.

Fgan
Or
i W feauit fafae—
(i) e afufsan
(ii) FrEfier T sfufsear
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Write notes on the following :

(1) Haloform reaction

(ii) Carbylamine reaction

THE-V

Unit-v
11. R-S oy
S F fowmyds e

Explain R-S nomenclature in detail
Agar
Or
RIS qegea # fran @ HHRY |

Explain optical isomerism in detail
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